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The Reserve Bank of India recently came

out with the draft guidelines for allowing
derivatives trading in the CDS in over-the-
counter (OTC) markets. What s the full form
of CDS?

(A)  Credit Default Swap

(B)  Credit Deposit System
(C)  Cash Derivative System
(O)  Currency Deposit System

Match the item of List-| with List-Il and choose
the correct combination

List-I

List-IT
(Functions) (Regulations)
Credit Control 1 MCA
Corporate Control 2 SEBI
IPO 3 IRDA
Insurance Sector 4 RBI
Codes :
P Q R S
(A) 4 1 20 3e
(B) 4 2 w3
() 3 4 2 1
(D) 3 2 4k 9

Which of the following statements is false?
(A)  Holistic marketing is base on
deveiopment, design, ang
implementation of marketing
programs, processes, an activities

fhat recognize thejr breadth anq
mterdependencles

3 sl
RS T

Il
x

Iv.

Select the correct answer from the fc
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(B)  Selling concept befieves
customers would not by

ofthe fim's product un o

Product concept bel
consumers value product
performance, and fez

©

() Marketing concept assumes
firm must find right produc
customers rather

customers for a product

Which of the following s not a ps
Framework as prescribed by Mcl
5

(A)  Shared Value (B)

C)  Structure O

Consider the following statements

i
Brand equity means brand aware 1€
and brand preference,

Product lines have no role in marke
Marketing Intelligence System
marketing decision making.
AIDA Model s relevant to physical

A Althe statements are f

(B)  Only lilis true

© L0 and v are tue
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10. Which of the following persons can opt for 12 A dress is displayed |0 the showroom with
the composition scheme under sub-section a price tag attached to the dress, A buyer
(1) and (2) of Section 10 of the CGST Act, interested in the dress and ready to pag the
2017, in the State of Delhi? price mentioned in the tag approached the
: :?eglsterz?d tﬁerson v:w.osef aggrfagI;ate shopkeeper for purchasing the dress. Which
urnover in the preceding financial year lowing statements is correct?
did not exceed Rs. 75 lakh. of the fexgeny on r '
Il Reglstergd person wr?ose aggregate (A) The shopkeeper can refuse fo sell
turnover in the preceding financial year ' o
did not exceed Rs. 1.5 crore the dress as display of dress is just
lll. A person engaged in manufacture of pan A IRy
masala, tobacco and manufactured
Wobacco SubSHRE (B) The shopkeeper cannot refuse to
IV. A person engaged in the manufacture sell the dress as the buyir has
of ice cream, other edible ice, whether accepted the offer
or not containing cocoa.
V. A person engaged exclusively in © In case of refusal, the shopkeeper
providing restaurant service. Wi" be liable f0r breaCh Of Contract‘
VI. A person engaged exclusively in supply
of medicines. D) The shopkeeper cannot refuse to
(A) WIRIRY sell the dress but may charge higher
(B) 1,11, V, VI price -
(©) I, 10,1V, Ve
© W,V V. VI 13 Match List-l and List-ll and select the correct
1. Where any cheque drawn by a person is answer from the codes given below :
dishonoured due to insufficiency of funds,
such person shall be punished with : List-I List-IT
(Act) (Year)
(A) Imprisonment for a term which may g ﬁémries Act 11999
2 2000
extend fo two years R Information Technology Act 3 2006
. . i S Environment Protection Acts, 4 1986
(B) With fine which may extend to twice
the amount of the cheque
Codes :
(@) Imprisonment for a term which may P Q R S
" extend to two years, or with fine which (A) 1 2 g 4v
may extend to twice the amount of ((g; g ; f ‘:‘q
the cheque, or with both 0) 4 1 9 3 %
D) No punishment
Paper-11 (5) 09-B
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~ 17.
& Find the probability of getting at ms'. : hme;
head on tossing an unbiased f:om for
times by using binomial distrbution :
(A) 424 v
B8) 74
© 324
O gut
15, Foramoderately skewed distribution, which
of the following relationship holds?
18.
(A)  Mean — Mode = 3 (Mean-Median)
(B)  Median —Mode = 3(Mean-Median)
€  Mean — Median = 3(Mean-Mode)
0)  Mean— Median = 3(Median-Mode)
16.  Match List-Iand List-IT and select the correct
answer from the codes given below
List-] List-I1
(Theory) (Proponents
P Theory X/ 1 Robert House
Q Hygiene 2 David McClellang
R Path-Goal 3 Douglas McGregor
S Achievement Theory 4 Herzberg
Codes
P Q R
(A) 3 4 1 g
(C) 1 4 3 2
Paper-11
(6)

.
GET IT ON
Google Play

Total Numbep
Fayol believed in "Kindness ‘ ‘
dealing their employees.* Thig
known as :
(A) Initiative
(B)  Order
(C)  Unity of Direction
(O  Equity

Which of the following sta .'

Decentralisation is the
decision-making
management to
employees

(A)

(B)  Decentralization ore
degree, importance E
lower-level  decis
increase,.  \./ |

(©)  Decentralization i o
degree of chec n
Mmanagement increas
@) Decentralization incre
degree of checkin
management decre:
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Consider the following statements :

| Motorola's mobile phone business has

N
g

been taken over by LG electronics. vV

Il The initial iPhone was designed with
focus on best battery life and calling
quality.

ll. Samsung, considered as one of most
innovative companies, is based in South

Total Number of Pages : 24

In which form of the contract, the ownership
passes to the buyer immediately?

(A) Agreement to sell

(B) Hire purchase

(C)  Sale

D) Lease agreement

22.  What type of cyber-crime, its laws and
ke punishments does section 66 of the Indian
IV. Nokia was one of the early entrant and IT Act holds ?
has been market leader in mobile \ /" .
phone market earlier (A) Cracking or illegally hack into any
it system
Which of the following is correct combination ?
A) |, 1, 1, and (VS8 EOmect U (B) Putting virus into the system
(B)  land Il are correcti. - (C)  Software piracy
(®) [Il'and IV are correct D) Stealing hardware components
(O 1,11l and IV are correct 23.  The relevant date for determining the rate of
20.  Which of the following statements is incorrect exchange in case of imported goods is :
regarding Value Chain Analysis? (A)  Date when the vessel leaves the
(A) Evaluating each of the activities in exporter's port for India
a company's value chain for (B)  Date of presentation of bill of entry
exploring opportunities i
' . (C)  Date of examination of goods by
(B) Prompting to consider all the steps proper officer
involved from the point of view of " N W
subtracting or adding value to 0) ate of depositiaf duty -
product/service 24, "Right to information" is defined under which
€ Network effects does not influence section of RTI Act, 20057
cost value proposition (A)  Section 2(e)
(D) Product differentiation helps in (B)  Section 2(f)
fuffilling the goal of translating the ©) Section 2()
opportunity into a valuable .
proposition D) Section 2(g)
Paper-11 (7) 09-B
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: . Mr. Ramesh, a ci ndia e
25 Sequence the following as por v Jes) s in the Indian embl“ymnol:) ‘ '
the Act in ascending order (old to new) : g Isira
non-resident for A.Y, 2023-24 He
. Income Tax Act salary and allowances in A 4».
I Gift TaxAct Government of India for the y
31.03.2023 for services rendered
Il Wealth Tax Act Australia. In addition, he wa:
(A) Il,lll,l*/ perquisites by the Governmen
the following statements are cor
® Il -
© Il (A)  Salary, allowances and
o L, % recelve.d outsndq
taxable in the hands
26.  Match List-l and List-ll and select the correct since he is non-res
answer from the codes given below :
(B)  Salary, allowances and
g iyl ~ received outside Ind
(Section under ‘
(Type of Companies) Companies Act,2013) Ramesh are taxab
P Banking Companies 2(68)
Q Charitable Companies [ 2 8(1) they are deemed to
R One Person Company{ 3 2(9) in India
S Private Compan 2(62)
(©)  Salary received by |
Coes T « taxable in India bu
(A) 1 3 4 2 perquisites are
(B) 2 4 3 1 t
©) 3 2 VAN, -
(D) 4 3 2 1 (0)  Salary received by M
; o exempt in India bu
27. Incase of a Hindu Undivided Family, where e
: _ perquisites are
the return of income cannot be signed by g
th Kalfa, th i X ; ' e X
v REe~a] be signss By 29.  Gratuity received by !
(A) The next senior-most male member employee' is L i
@)  Karta's wife (A Fuly taxable
B)  Fully exempted
(C) Any male member of the family o ® .y ;
(C)  Exempted upto Rs. 5,
(D) Any adult member of the family (D)  Exempted up to :’3“1
Paper-I1 (8) |
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A)  Set Pricing Objectiy
% Which of the following is not an element of g Costs: Analysing coy
promotion mix? Determi e
ning '
. Demand; n
(B) Personal selling Analysing
(©) Packaging Selecting the -
= (C)  Set Pricing Object
).+ 0 competitors price
3. ______is based on personality traits, Estimating
attitude, lifestyle, and values. Demand; Selecting
s ; (B)  Set Pricing Objec
(A)  Demographic segmentation  Costs: Deti
()  Behavioural Segmentation Sy sing e
offers; Selec
(C)  Psychographic Segmentation 2 Whioh Y the follov;i’j
©)  Both (B)and (C) Maltaling MKy
. : . Product 4
37. Which one from the following does not fall 4
under Brand Element Choice Criteria? . Price " .
(A)  Mindful Il Profit
B)  Meaningful V. Place _' ;‘
©  Likable Vs Prometion SN
Choose the compos »f‘::-
(D) Adaptable et
\ N
A L
38 Choose the correct sequence of activities h o il
that are carried out while setting effective ® 1w, 'Vﬁ\ k
pricing policy. -
©  Lmiv v ;
¢ o
© LIV, Vs e
Paper-I1 (10)
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(v, Organizational
7. Daniel Goleman advocated the importance © ’ |
4] ssful Organizational ¢
of Emotional Intelligence for succe the same fy
leaders. Which of the following was not "9
considered as a part of Emotional O Organizational Bepa,
Intelligence by him? Organisational p r
(A)  Patience 50.  Which of the following is
Separate Trading of Regi
(B)  Self-Regulation Principal of Securities (STR
(C)  Empathy it
securities only
(O)  Motivation (B)  They are issueq
48. Which of the following is not a component €  They are eligiblev
of Neuroticism as explained through Big O} Sthoy are e o
Five Personality Traits? , -
way of Separat
() Being Anxious B
51, On what priority basis Scree
() Being Temperamental system matches orders j
based trading system?
(©)  Being Moody '
(A) Quantity/price i
D)  Being Affab| -
© B Afabie ®  Timelpricesf
49.  Which of the following statement is true? (C) Priceltiméﬂ -
() Change Management is part of D) Pricelquanﬁ& I"
Organizationa| Development N
52, Whichofthe following is n
(B)  Change Management and instrument? o
Organizationa| Development are X (A) Commercial Paper
similar concepts (B)  Certificate of Depo
©  Public
) Treasury Bill
Paper-I1 (12)
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n (1) choose the 1("“‘"

Levered firm will have higher

ertion (a)

required return on equity.

. A levered firm has financial risk

Reason (r)
ered firm is not exposed to

while an unlev

financial risk

(A) Both (a) and (r) are correct but () is
the correct explanation of (a)

99.
(B) Both (a) and (r) are correctand (r) is
not a correct explanation of (a)
(®) (a) is correct but (r) is not correct
D) Both (a) and (r) are not correct
97. A compnay issues 10 year 15 percent
bonds of Rs. 100 each at par, repayable at
par on maturity. What will be the after-tax cost
of debt if the corporate tax rate is assumed
to be 30 percent?
100.
(A) 15%
(B) 10.50%
(C) 4.50%
(D) 19.50%
98, Which of the following is correct to compute
the book value per ordinary share?
Paper- ’ ' ———
aper-11 (22)

. |
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(A) Total Assets/Number of Ordinar
/

Shares

Net worth/Number of Ordinary

Shares

Profit available to shareholders/

(©)
Number of Ordinary Shares

(D) Total Assest minus Current
Liabilities/Number of Ordinary
Shares

Which of the following factors are not

considered in evaluating projects under

multinational capital budgeting?

Exchange Rate Fluctuations

(A)

(B) Sunk Costs
) Inflation

D) Social Costs

Which of the following is not an example of
compressed data?

(A) Data array
(B) Frequency distribution
©) Histogram
(D) Ogive
09-B
d
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